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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]

3500 7 —@— ECopt

3000 -

2500

2000

1500 ~

1000

500 -

0 25 50 75 100 125 150 175



Plot Sensor and FgRec Data
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Trend plot forP3-4 0
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5 g o ME —o— ME | 2407 —o— wE] 5307 R
5.8 5. 35 -
5.6 5. 25 -
5. 30 -
5.4 1 5.6 1
5. 25 - 5. 20 -
5.2
5.20 -
5.0 5.4 5.15 4
5.15 -
4.8
5.2 5.10 - 5.10 -
T T T T T T T T T T T T T
600 700 800 900 550 555 560 605 610 615 675 680 685
m=735,m FV0=0 m=790,m FV0=0 m=895,m FV0=0 m
5. 30 5. 20 o— weE | 5007 ~—— 317 o W
5.15 -
5.28 -
4. 95 - 30 -
5.10 -
5. 26 -
—— ME | 5 05- 4.90 29 1
5.24 -
5. 00 -
»s 4.85 1 28 1
5.22 1 4.95
5. 20 - 4.90 - 4. 80 - 271
T T T T T T T T T T T T T
735 740 745 790 795 800 895 900 905 600 700 800 900
m=550,m FV0=0 m=605,m FV0=0 m=675,m FVO=0 m=735,m FV0=0
—— MW —— MW —— MW —— MW
27.6 - 28. 4 1 28.4 - 28. 75 -
28.2 4 28. 9 -
27. 4 1 28. 50 -
28.0 -
28.0 28, 25 -
27.2 7 27.8 -
27.8 1
- 28. 00 -
27.0 4 ’ 27.6 -
07 4 - 27.75 -
26. 8 - 27. 4 1
550 555 560 605 610 615 675 680 685 735 740 745
m=790,m FV0=0 m=895,m FV0=0 m m
29.254 —@— MW —— MW
30.5 -
29. 00 -
28. 75 - 30.0 -
28. 50 -
29.5 -
28. 25 -
790 795 800 895 900 905



hour

100

80

- 60

- 40

20

’%‘% "/é 4 S




P3-4

BrE) | GEBAK @) | ERE(EAH/K (XS R

07:30 212 150.0 FA| 1Ri%@07:30 B3 (KRAEREE)
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